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ASSISTANT AGRICULTURAL OFFICER AND ASSISTANT HORTICULTURAL 
OFFICER IN TAMIL NADU AGRICULTURAL EXTENSION SUBORDINATE SERVICE 

AND TAMIL NADU HORTICULTURAL SUBORDINATE SERVICE – 07/02/2024 
 

1. The concept of constitution was first originated in ____ country. 
a. Russia   b. United States of America  c. India 
d. England   e. Answer not known 
murpayikg;gpd; fUj;jhf;fk; Kjypy; Njhd;wpa ehL 
a. u~;ah   b. mnkhpf;f If;fpa ehL   c. ,e;jpah 
d. ,q;fpyhe;J  e. tpil njhpatpy;iy 
 

2. The parliament house in India was designed by the British architects 
a. Edwin Hetyens and Herbert Baker 
b. Herbert Baker and Tagore 
c. Jawaharlal Nehru and Edwin Hetyens 
d. Queen Victoria and Jawaharlal Nehru 
e. Answer not known 
,e;jpahtpd; ehlhSkd;wf; fl;blj;ij tbtikj;jth;fs; 
a. vl;tpd; n`l;nad;]; kw;Wk; n`h;gh;l; Ngf;fh; 
b. n`h;gh;l; Ngf;fh; kw;Wk; jh$h; 
c. [tfh;yhy; NeU kw;Wk; vl;tpd; n`l;nad;]; 
d. ,uhzp tpf;Nlhhpah kw;Wk; [tfh;yhy; NeU 
e. tpil njhpatpy;iy 
 

3. The first municipal corporation in India was inaugurated at Madras (Chennai) in the year 
a. 1763 b. 1688 c. 1668  d. 1663 e. Answer not known 
,e;jpahtpd; Kjy; khefuhl;rp (nrd;id) ____ Mz;by; njhlq;fg;gl;lJ. 
a. 1763 b. 1688 c. 1668  d. 1663 e. tpil njhpatpy;iy 
 

4. Under which Article the President is vested with the power to proclaim State Emergency? 
a. Article 352   b. Article 360   c. Article 365 
d. Article 356   e. Answer not known 
fPo;f;fhZk; ve;j tpjpapd;> mbg;gilapy; FbauR jiyth; khepy muir fiyf;Fk; 
mjpfhuk; ngw;Ws;shh;? 
a. rl;lg;gphpT 352  b. rl;lg;gphpT 360  c. rl;lg;gphpT 365 
d. rl;lg;gphpT 356  e. tpil njhpatpy;iy 
 

5. In which country is ruling Two-Party system? 
a. UK  b. China c. USSR d. France e. Answer not known 
ve;j ehl;by; ,U fl;rp Ml;rp Kiw eilKiwapy; cs;sJ? 
a. Nrhtpaj; A+dpad;  b. rPdh   c. Nrhtpaj; A+dpad; 
d. gpuhd;];   e. tpil njhpatpy;iy 
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6. Match correctly the rights with their fundamental rights respectivel: 

A. Right to vote    1. Cultural rights 
B. Right to form union   2. Right against 
C. Right to preserve tradition  3. Political rights 

 D. Child Labour    4. Right to freedom 
  A B C D 

a. 3 4 1 2 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 4 3 2  
e. Answer not known 
fPo;f;fz;ltw;Ws; mbg;gil chpikfis mjd; rhpahd chpikfNshL KiwNa 
nghUj;jTk;: 
A. thf;fspf;Fk; chpik    1. gz;ghl;L chpik 
B. rq;fk; mikf;Fk; chpik   2. Ruz;lYf;nfjpuhd chpik 
C. ghuk;ghpaj;ijg; ghJfhf;Fk; chpik  3. murpay; chpik 
D. Foe;ij njhopyhsh;    4. Rje;jpu chpik 

  A B C D 
a. 3 4 1 2 
b. 2 4 1 3 
c. 4 2 1 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

7. According to growth rate which five year plans were plans were did not attain the Target: 
1. First Five Year Plan 
2. Second Five Year Plan 
3. Third Five Year Plan 
4. Fourth Five Year Plan 
a. 1, 2 and 3   b.2 and 3   c. 2, 3 and 4 

d. 1 and 3   e. Answer not known 
tsh;r;rp tpfpjj;jpd; mbg;gilapy; ,yf;if milahj Ie;jhz;Lj; jpl;lq;fs;: 
1. Kjy; Ie;jhz;Lj; jpl;lk; 
2. ,uz;lhk; Ie;jhz;Lj; jpl;lk; 
3. %d;whk; Ie;jhz;Lj; jpl;lk; 
4. ehd;fhk; Ie;jhz;Lj; jpl;lk; 
a. 1> 2 kw;Wk; 3  b. 2 kw;Wk; 3   c. 2> 3 kw;Wk; 4 
d. 1 kw;Wk;   e. tpil njhpatpy;iy 
 

8. The Government of India declared its First Industrial policy on  
a. 6th March 1948  b. 6th April 1948  c. 16th March 1948 
d. 16th April 1948  e. Answer not known 
,e;jpa muR Kjy; njhopw;nfhs;ifia mwptpj;j Mz;L 
a. 1948 khh;r; 6  b. 1948 Vg;uy; 6  c. 1948 khh;r; 16 
d. 1948 Vg;uy; 16  e. tpil njhpatpy;iy 
 

9. In India Taxes are including 
a. Direct Taxes  b. Indirect taxes  c. Both of (a) and (b) 

d. None of these  e. Answer not known 
,e;jpahtpy; cs;s thpfs; 
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a. Neh;Kf thpfs;  b. kiwKf thpfs;  c. ,uz;Lk; (a) kw;Wk; (b) 
d. vJTkpy;iy  e. tpil njhpatpy;iy 
 

10. Choose the right answer: 
The Goods and Service Tax was passed in parliament on 
a. 1st July 2017   b. 29th March 2017  c. 22nd March 2016 
d. 22nd March 2017   e. Answer not known 
gz;lq;fs; kw;Wk; gzpfs; thp ,e;jpag; ghuhSkd;wj;jpy; ve;j Mz;L epiwNtw;wg;gl;lJ 
a. 1 [_iy> 2017   b. 29 khh;r;> 2017  c. 22 khh;r;> 2016 
d. 22 khh;r;> 2017   e. tpil njhpatpy;iy 
 

11. Choose the right matches among type. 
1. Zamindari system - Landlord system 
2. Mahalwari system - The owner of cultivator system 
3. Ryotwari system  - Communal system 
4. Land Tenure system - The system of land ownership and management 
a. 1 and 3 are correct  b. 1 and 2 are correct c. 3 and 4 are correct 
d. 1 and 4 are correct  e. Answer not known 
rhpahfg; nghUj;jpAs;s ,iziaj; Njh;e;njL. 
1. [kPd;jhhp Kiw  - epyr;Rthd;jhh; Kiw 
2. k`y;thhp Kiw  - nrhe;j rhFgb Kiw 
3. ,uaj;Jthhp Kiw - ,dthhp Kiw 
4. epy cilik Kiw - epyq;fSf;fhd chpik kw;Wk; eph;tfpj;jy; gw;wpaJ 
a. 1 kw;Wk; 3 rhp   b. 1 kw;Wk; 2 rhp  c. 3 kw;Wk; 4 rhp 
d. 1 kw;Wk; 4 rhp   e. tpil njhpatpy;iy 
 

12. Tirupur known as ____ is the exporter of garments. 
a. “Yarn Bowl”   b. “Steel City”  c. “The Detroit of Asia” 
d. “Knitting City”   e. Answer not known 
gpd;dyhilfis Vw;Wkjp nra;Ak; jpUg;G+hpd; NtWngah;. 
a. “E}y; fpz;zk;”   b. “v/F efuk;”  c. “Mrpahtpd; nll;uha;l;” 
d. “gpd;dyhilfspd; efuk;” e. tpil njhpatpy;iy 
 

13. Which Viceroy convened the ‘Simla Conference’ in 1945? 
a. Lord Wavell  b. Lord Linlithgow  c. Lord Mountbatten 
d. Clement Atlee  e. Answer not known 
1945 ,y; rpk;yh khehl;ilf; $l;ba mur gpujpepjp 
a. Ntty; gpuG  b. ypd;ypj;Nfh gpuG  c. nksz;l;Ngl;ld; gpuG 
d. fpskz;l; ml;yp  e. tpil njhpatpy;iy 
 

14. Match the following: 
A. Treaty of Mangalore  1. 1765 
B. Treaty of Paris   2. 1794 
C. Treaty of Srirangapatnam 3. 1783 
D. Treaty of Allahabad  4. 1784 
 A B C D 
a. 3 2 1 4 
b. 4 3 2 1 
c. 1 3 2 4 
d. 2 1 4 3 
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e. Answer not known 
nghUj;Jf: 
A. kq;f@h; cld;gbf;if  1. 1765 
B. ghhp]; cld;gbf;if  2. 1794 
C. =uq;fgl;lz cld;gbf;if 3. 1783 
D. myfhghj; cld;gbf;if 4. 1784 
 A B C D 
a. 3 2 1 4 
b. 4 3 2 1 
c. 1 3 2 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

15. Match the following: 
Venues of congress sessions with the year. 
A. Delhi   1. 1887 
B. Lahore   2. 1888 
C. Allahabad   3. 1893 
D. Madras   4. 1932 
 A B C D 
a. 3 2 1 4 
b. 1 4 3 2 
c. 2 4 3 1 
d. 4 3 2 1 
e. Answer not known 
gpd;tUtdtw;iw nghUj;jp rhpahd tpilia Njh;T nra;f: 
,e;jpa Njrpa fhq;fpu]; khehLfs; eilngw;w ,lk; kw;Wk; Mz;Lfs;. 
A. nly;yp    1. 1887 
B. yh$h;    2. 1888 
C. myfhghj;    3. 1893 
D. nrd;id    4. 1932 
 A B C D 
a. 3 2 1 4 
b. 1 4 3 2 
c. 2 4 3 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

16. In which language did Ambedkar Publish “MOOK NAYAK” magazine? 
a. Hindi   b. Mahar    c. Marathi 

d. English   e. Answer not known 
“%f;ehaf;” ,jio mk;Ngj;fh; ve;j nkhopapy; ntspapl;lhh;? 
a. ,e;jp   b. k`h;    c. kuhj;jp 
d. Mq;fpyk;   e. tpil njhpatpy;iy 
 

17. “Story of Santirigai” is related to 
a. Bharathidasan  b. Suddhanantha Bharathi  c. Bharathiyar 

d. Rajaji   e. Answer not known 
“re;jphpifapd; fij” ahNuhL njhlh;GilaJ? 
a. ghujpjhrd;   b. Rj;jhde;j ghujp   c. ghujpahh; 
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d. uh[h[p   e. tpil njhpatpy;iy 
 

18. Spouse name of Tagore 
a. Swarupa Rani  b. Kasthuri Bai  c. Mirnalini Devi 

d. Lilavati   e. Answer not known 
jh$hpd; kidtp 
a. ];t&g uhzp  b. f];J}hpgha;  c. kpUdhspzp Njtp 
d. yPyhtjp   e. tpil njhpatpy;iy 
 

19. Who founded the Indian National Army? 
a. Col. Mohan Singh b. Subash Chandra Bose  c. Shah Nawaz Khan 
d. P.K. Sehgal  e. Answer not known 
,e;jpa Njrpa ,uhZtj;ij epWtpath; ahh;? 
a. Nfg;ld; Nkhfd; rpq; b. Rgh~; re;jpu Ngh];  c. ~h eth]; fhd; 
d. P.K. n~fy;  e. tpil njhpatpy;iy 
 

20. The Swadeshi leaders in Tamilnadu planned to celebrate the day of Bipin Chandra Pal’s 
release as a ____ in Thirunelveli. 
a. Labours day  b. Swarajya day  c. Victor day 
d. Chennai day  e. Answer not known 
jkpo;ehl;Lr; RNjrp ,af;fj; jiyth;fs; gpgpd; re;jpughy; tpLjiy nra;ag;gl;l me;j 
ehis ____ jpdkhf jpUney;Ntypapy; nfhz;lhl jpl;lkpl;ldh;. 
a. njhopyhsh;fs; jpdk;  b. RNjrp jpdk;  c. ntw;wp jpdk; 
d. nrd;id jpdk;   e. tpil njhpatpy;iy 
 

21. Valluvar composes the uneducated to? 
a. A fiend/Devil   b. A ghost   c. Death 
d. Animal    e. Answer not known 
fy;yhjth;fis ts;Sth; vjDld; xg;gpLfpwhh;? 
a. Nga; b. G+jk; c. $w;wk; d. tpyq;F e. tpil njhpatpy;iy 
 

22. What does Valluvar state about persons who will give away even their bones to the loved 
ones? 
a. Persons or men of Distinction  b. Men of courtesy  c. Men of love 

d. Men of sensibility   e. Answer not known 
vd;Gk; chpah; gpwh;f;F – vd;W ts;Sth; ahiuf; Fwpg;gpLfpd;whh;? 
a. khz;Gilahh;  b. gz;Gilahh;  c. md;Gilahh; 
d. mwpTilahh;  e. tpil njhpatpy;iy 
 

23. “- Who know not with the world in harmony 
     to dwell, may many things have learned, 
     but nothing well”. 
Who is referred as a fool inspite of vast learning? 
a. Men without riches   
b. Men without grace  
c. Men without fame 
d. Men who cannot live in harmony with the outside world 
e. Answer not known 
‘gyfw;Wk; fy;yh uwptpyhjhh;’ vd ts;Sth; ahiuf; Fwpg;gpLfpd;whh;? 
a. nghUNshL thohjhh;  b. mUNshL thohjhh; c. GfNohL thohjhh; 
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d. cyfpaNyhL thohjhh;  e. tpil njhpatpy;iy 
 

24. Who according to Valluvar will gain heaven? 
a. One who is Honest  b. One who never lies c. One who never slanders 
d. One who is never angry  e. Answer not known 
Gj;Njd; cyf tho;f;ifia ahh; cWjpahf tho;th; vd;W ts;Sth; Fwpg;gpLfpwhh;? 
a. jpUlhjhh;    b. ngha; nrhy;yhjhh; c. Gwq;$whjhh; 
d. rpdq; nfhs;shjhh;  e. tpil njhpatpy;iy 
 

25. How will those who possess no wealth be treated according to Valluvar? 
a. Be commiserate   b. Be blessed   c. Be Despised 
d. Be blamed    e. Answer not known 
nghUs; ,y;yhiu vy;yhUk; vt;thW fUJth; vd;W ts;Sth; Fwpg;gpLfpd;whh;? 
a. ,uq;Fth;    b. mUSth;   c. vs;Sth; 
d. gopg;gh;    e. tpil njhpatpy;iy 
 

26. What according to Valluvar is the grammar to conquer the desires of all the five senses? 
a. Antiquity    b. Perseverance  c. Abstinence 
d. Education    e. Answer not known 
Ik;Gyd;fisAk; mlf;fp Ms;tijAk; mg;Gyd;fs; tpUk;Gtdtw;iw vy;yhk; 
tpl;LtpLtijAk; vjw;Fhpa ,yf;fzkhf ts;Sth; Fwpg;gpLfpd;whh;? 
a. Kjik    b. Fwpf;Nfhs;   c. JwT 
d. fy;tp    e. tpil njhpatpy;iy 
 

27. The ratio of the volume of two cones is 2:3. Find the ration of their radii if the height of 
second cone is double its height of the first 

a. 3 : 2  b. 2 : 3   c. 2 : 3  d. 3 : 2  e. Answer not known 
,U $k;GfSila fd msTfspd; tpfpjk; 2:3 MFk;. ,uz;lhk; $k;gpd; cauk; Kjy; 
$k;gpd; cauj;ijg;Nghy; ,U klq;F vdpy;> mtw;wpd; Muq;fspd; tpfpjk; fhz;f. 

a. 3 : 2  b. 2 : 3   c. 2 : 3  d. 3 : 2  e. tpil njhpatpy;iy 

 
28. _____ Tamil work describes the procedures for erecting hero-stones. 

a. Tholkappiyam   b. Ettuthogai   c. Pattupattu 
d. Pathinenkeelkanakku  e. Answer not known 
_____ vd;Wk; jkpo; ,yf;fpa E}y; ‘eLfy;’ eLtjw;fhd topKiwfs; Fwpj;J tphpthf 
vLj;Jiuf;fpwJ. 
a. njhy;fhg;gpak;   b. vl;Lj;njhif E}y;fs; c. gj;Jg;ghl;L 
d. gjpndz;fPo;f;fzf;F  e. tpil njhpatpy;iy 
 

29. Choose the correct statement: 
(i) Madras Native Association was found in 1852 
(ii) Tamil Nationalist periodical Swadesamitran was started in 1891. 
(iii) The Madras Mahajana Sabha demanded conduct of Civil Services Examinations 

only in India 
(iv) V.S. Srinivasanar was an extremist 
a. (i) and (ii) are correct  b. (iii) is correct  c. (iv) is correct 
d. all are correct   e. Answer not known 
rhpahd $w;iw Njh;T nra;aTk;: 
(i) nrd;id thrpfs; rq;fk; 1852 ,y; epWtg;gl;lJ. 
(ii) jkpopy; ntspte;j Njrpag; gUt ,jo; RNjrkpj;jpud; 1891y; njhlq;fg;gl;lJ. 
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(iii) Fbikg; gzpj; Njh;Tfs; ,e;jpahtpy; kl;LNk elj;jg;gl Ntz;Lnkd nrd;id 
kfh[d rig NfhhpaJ 

(iv) V.S. rPdpthrdhh; xU jPtpu Njrpathjpahth; 
a. (i) kw;Wk; (ii) Mfpait rhp b. (iii) kl;Lk; rhp  c. (iv) kl;Lk; rhp 
d. midj;Jk; rhp   e. tpil njhpatpy;iy 
 

30. Assertion [A]: P. Rangaiah was the first President of the Madras Mahajana Sabha 
Reason [R]:  Madras Mahajana Sabha was the earliest organization in South India 
    with clear nationalist objectives. 
a. Both [A] and [R] are correct 
b. [A] is correct but [R] is not the correct explanation 
c. Both [A] and [R] are wrong 
d. [R] is correct but it has no relevance to [A] 
e. Answer not known 
$w;W [A]: nrd;id kfh[d rigapd; Kjy; jiyth; P. uq;ifah 
fhuzk; [R]: njd;dpe;jpahtpy; njspthd Njrpa Nehf;fq;fSld; njhlq;fg; ngw;w 
   njhlf;ffhy mikg;G nrd;id kfh[d rigahFk; 
a. $w;W [A] kw;Wk; fhuzk; [R] vDk; ,uz;Lk; rhp. 
b. $w;W [A] rhp; Mdhy; fhuzk; [R] $w;wpd; rhpahd tpsf;fky;y. 
c. fhuzk; [R] $w;W [A] ,uz;LNk jtW 
d. fhuzk; [R] rhp; Mdhy; $w;W [A]-cld; mJ nghUe;jtpy;iy 
e. tpil njhpatpy;iy 
 

31. Which of the following statements is ‘NOT TRUE’ about the consequences of Vellore 
Revolt of 1806? 
a. Tipu’s sons were ordered to be sent to Calcutta 
b. Col. Gillespie was given a reward of 7000 pagodas 
c. William Bentick was recalled to England 
d. The new military regulations were continued to be implemented  
e. Answer not known 
1806-Mk; Mz;L ele;j NtY}h; Gul;rpapd; gpd; tpisTfs; gw;wp $wg;gLk; gpd;tUk; 
$w;Wfspy; vJ ‘rhpahdJ my;y’? 
a. jpg;Gtpd; kfd;fis fy;fj;jhTf;F mDg;g cj;jutplg;gl;lJ 
b. fh;dy; [py;y];gpf;F 7000 gNfhlhf;fs; ntFkjpahf mspf;fg;gl;lJ 
c. tpy;ypak; ngz;bq; ,q;fpyhe;Jf;F jpUg;gp miof;fg;gl;lhh; 
d. Gjpa ,uhZt tpjpKiwfs; njhlh;e;J mky;gLj;jg;gl;lJ 
e. tpil njhpatpy;iy 
 

32. ‘Sakya Buddhist Society’ was founded by 
a. Sri Narayana Guru  b. Savitribai Phule  c. Ayyankali 
d. Iyothithassar   e. Answer not known 
‘rhf;fpa ngsj;j rq;fk;’ vDk; mikg;ig epWtpath; 
a. = ehuhaz FU   b. rhtpj;jphpgha; G+Ny c. ma;ad;fhsp 
d. mNahj;jpjhrh;   e. tpil njhpatpy;iy 

 
33. Match the following: 

A. Prarthana Samaj    1. 1870 
B. Widow Marriage Association  2. 1884 
C. Poona Sarvajanik Sabha   3. 1867 
D. Deccan Education Society  4. 1861 
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 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c. 3 4 1 2 
d. 2 4 3 1 
e. Answer not known 
nghUj;Jf: 
A. gpuhh;j;jdh rkh[;    1. 1870 
B. tpjit kWkzr; rq;fk;   2. 1884 
C. GNd rh;t[dpf; rgh   3. 1867 
D. jf;fhz fy;tpf; fofk;   4. 1861 
 A B C D 
a. 4 3 1 2 
b. 3 2 4 1 
c. 3 4 1 2 
d. 2 4 3 1 
e. tpil njhpatpy;iy 
 

34. Hindu Religious Endowment Act was introduced in  
a. 1922 b. 1924 c. 1926  d. 1929 e. Answer not known 
,e;J rka mwepiyr; rl;lk; ,aw;wg;gl;l Mz;L ____ MFk;. 
a. 1922 b. 1924 c. 1926  d. 1929 e. tpil njhpatpy;iy 
 

35. Match the following: 
A. World Day of Social Justice   1. 11th April 
B. Social Justice for a Fair Globalization  2. 2nd August 
C. Philadelphia Declaration   3. 20th February 
D. ILO      4. 10th June 
 A B C D 
a. 2 4 1 3 
b. 3 2 4 1 
c. 4 3 2 1 
d. 3 4 2 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
A. cyf r%f ePjp ehs;     1. 11 Vg;uy; 
B. epahakhd cyfkakhf;fYf;fhd r%f ePjp  2. 2 Mf];l; 
C. gpynly;gpah gpufldk;     3. 20 gpg;uthp 
D. rh;tNjr njhopyhsh; mikg;G    4. 10 [_d; 
 A B C D 
a. 2 4 1 3 
b. 3 2 4 1 
c. 4 3 2 1 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

36. Arrange the following in chronological order 
1. Brahma Samaj 
2. Prasthana Samaj 
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3. Sarada Sadan 
4. Arya Samaj 
a. 1, 2, 3, 4   b. 1, 3, 2, 4   c. 1, 4, 3, 2 
d. 1, 2, 4, 3   e. Answer not known 
gpd;tUtdtw;iw fhythpirg;gb thpirg;gLj;jTk; 
1. gpuk;k rkh[; 
2. gpuhh;j;jdh rkh[; 
3. rhujh rjd; 
4. Mh;a rkh[; 
a. 1, 2, 3, 4   b. 1, 3, 2, 4   c. 1, 4, 3, 2 
d. 1, 2, 4, 3   e. tpil njhpatpy;iy 
 

37. “It is against the law to employ children below 14 years of age in mines, factories or other 
occupation”. This comes under which category of human rights? 
a. Right to freedom     b. Right to constitutional remedies 
c. Right against exploitation   d. Fundamental duties 
e. Answer not known 
“14 taJf;Fl;gl;l Foe;ijfis Ruq;fq;fspy;> njhopw;rhiyfspy; my;yJ gpw Ntiyf;F 
mkh;j;JtJ rl;lj;jpw;F vjpuhdJ”. ,J kdpj chpikfspd; ve;j tifapy; tUtJ? 
a. Rje;jpu chpik    b. murpayikg;G top jPh;TfSf;fhd chpik 
c. Ruz;lYf;F vjpuhd chpik  d. mbg;gil flikfs; 
e. tpil njhpatpy;iy 
 

38. Education is 
a. Consumption good  b. Investment good  c. None 
d. Both    e. Answer not known 
fy;tp vd;gJ xU 
a. Efh;Tg; gz;lk;   b. %yjdg; gz;lk;  c. vJTkpy;iy 
d. ,uz;Lk;    e. tpil njhpatpy;iy 
 

39. On the occasion of 97th Birth anniversary of Kalaignar Karunanithi the Government of 
Tamil Nadu has announced 
a. A high class super multi-speciality hospital at Chennai. 
b. A library at Chennai 
c. A hospital at Coimbatore 
d. A housing scheme for tribes 
e. Answer not known 
fiyQh; fUzhepjp mth;fspd; 97 tJ gpwe;j jpd tpohtpd; NghJ jkpo;ehL muR ____ 
cUthf;Ftjhf mwptpj;jJ. 
a. nrd;idapy; cah; ju gy;Nehf;F kUj;Jtkid 
b. nrd;idapy; xU E}yfj;ij 
c. Nfhak;Gj;J}hpy; xU kUj;Jtkidia 
d. kiytho; kf;fSf;nfd xU tPl;L jpl;lj;ij 
e. tpil njhpatpy;iy 
 

40. Right to education was inserted in which of the following article 
a. Article 21-A   b. Article 22 A  c. Article 23 
d. Article 24    e. Answer not known 
gpd;tUk; gphptpy; vjpy; fy;tpf;fhd chpik Nrh;f;fg;gl;lJ 
a. gphpT 21 – A   b. gphpT 22 A   c. gphpT 23 
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d. gphpT 24    e. tpil njhpatpy;iy 
 

41. Which district has the largest forest cover in Tamilnadu? 
a. Dharmapuri   b. Vellore   c. Dindigul 
d. Erode    e. Answer not known 
jkpo;ehl;by; mjpf gug;gstpy; fhLfisf; nfhz;l khtl;lk; 
a. jh;kGhp    b. NtY}h;   c. jpz;Lf;fy; 
d. <NuhL    e. tpil njhpatpy;iy 
 

42. How many Wetlands are there in Tamil Nadu? 
a. 24684 b. 24685 c. 24686 d. 24687 e. Answer not known 
jkpo;ehl;by; vj;jid <u epyq;fs; cs;sd? 
a. 24684 b. 24685 c. 24686 d. 24687 e. tpil njhpatpy;iy 
 

43. Dream of Tamil Nadu : Our vision in to transform Tamil Nadu into a trillion dollar 
economy without affecting the 
a. Happiness and social problem of the people 
b. Happiness, environment and livelihood of the people 
c. Happiness and poverty of the people 
d. Happiness and cyber crime of the people 
e. Answer not known 
jkpofj;jpd; fdT : jkpofj;ij bhpy;ypad; lhyh; nghUshjhuk; khw;WtNj vq;fs; ghh;it 
mit ,tw;iw ghjpf;fhky; 
a. kfpo;r;rp kw;Wk; kf;fspd; r%f gpur;rid 
b. kfpo;r;rp> Rw;Wr; #oy; kw;Wk; kf;fspd; tho;thjhuk; 
c. kf;fspd; kfpo;r;rp kw;Wk; tWik 
d. kf;fspd; kfpo;r;rp kw;Wk; kf;fspd; irgh; Fw;wq;fs; 
e. tpil njhpatpy;iy 
 

44. It was used by the Harappans for making stone blades and tools. 
a. Rohri chert  b. Steatite   c. Lapis lazuli 
d. Carnelian   e. Answer not known 
`ug;gh kf;fs; fj;jpfSk; gpw fUtpfSk; nra;tjw;F ,J gad;gl;lJ. 
a. Nuhhp nrh;l;   b. ];Bl;ill;   c. it^hpak; 
d. fhh;dpypad;  e. tpil njhpatpy;iy 
 

45. ____ dynasity is known as the Mamluk dynasity. 
a. Slave   b. King   c. Queen 
d. Soldier   e. Answer not known 
____ tk;rk;> kk;yf; tk;rk; vd;W miof;fg;gLfpwJ. 
a. mbik   b. murh;   c. ,uhzp 
d. giltPuh;   e. tpil njhpatpy;iy 
 

46. Who among the following ruler married the Lichchavi princess Kumaradevi? 
a. Chandra Gupta – I  b. Samudra Gupta – II  c. Kumara Gupta 
d. Skanda Gupta   e. Answer not known 
gpd;tUk; Ml;rpahsh;fspy; ypr;rtp ,sturp FkhuNjtpia kze;jth; ahh;? 
a. Kjyhk; re;jpu Fg;jh;  b. ,uz;lhk; rKj;jpu Fg;jh;  c. Fkhuh Fg;jh; 
d. ];fe;j Fg;jh;   e. tpil njhpatpy;iy 
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47. Gun powder was first Invented by 
a. India b. Europe c. Chinese d. America  e. Answer not known 
ntbkUe;ij Kjd; Kjypy; fz;Lgpbj;jth; 
a. ,e;jpah b. INuhg;gh c. rPdh d. mnkhpf;fh  e. tpil njhpatpy;iy 
 

48. ‘Vasisthiputra Palumayi’ was 
a. Women scholar in Sangam Age  b. Trader   c. King 

d. Priest     e. Answer not known 
‘trp~;lGj;u GYkhap’ vd;gth; 
a. rq;ffhy ngz; Gyth;   b. tzpfh;   c. murh; 
d. GNuhfpjh;     e. tpil njhpatpy;iy 
 

49. ____ established their kingdom in Tondaimandalam. 
a. Cheras   b. Cholas   c. Pallavas 
d. Pandias   e. Answer not known 
_____ njhz;il kz;lyj;jpy; jq;fs; uh[;aj;ij epWtpdhh;. 
a. Nruh;fs;   b. Nrhoh;fs;   c. gy;yth;fs; 
d. ghz;bah;fs;  e. tpil njhpatpy;iy 
 

50. The term Secularism is derived from ____ language word. 
a. Urdu   b. English   c. Latin 
d. Hindi   e. Answer not known 
rkar;rhh;gpd;ik vd;w nrhy; ____ nkhop thh;j;ijapypUe;J ngwg;gl;lJ. 
a. cUJ   b. Mq;fpyk;   c. yj;jPd; 
d. ,e;jp   e. tpil njhpatpy;iy 

 
51. In which language was announced as classical language in 2013? 

a. Telugu   b. Oriya   c. Kannada 
d. Malayalam  e. Answer not known 
2013Mk; Mz;L nrk;nkhopahf mwptpf;fg;gl;l nkhop 
a. njYq;F   b. Xhpah   c. fd;dlk; 
d. kiyahsk;  e. tpil njhpatpy;iy 

 
52. In normal lapse rate the temperature decreases at the rate of ____ for every 1000 meters 

of altitude above earth surface in atmosphere. 

a. 6.5C b. 8.5C c. 4.5C d. 7.5C e. Answer not known 
ntg;gf; FiwT tpfpjkhdJ Gtpg;gug;gpypUe;J caNu nry;yr; nry;y tspkz;lyj;jpy; 
xt;nthU 1000 kPl;lh; cauj;jpw;Fk; _____ vd;w mstpy; ntg;gepiy FiwfpwJ. 

a. 6.5C b. 8.5C c. 4.5C d. 7.5C e. tpil njhpatpy;iy 
 
53. Pick out the odd one out 

a. Gir National Park – Gujarat   
b. Corbet National Park – Uttarakhand 
c. Ranthambore National Park – Rajasthan 
d. Kanha National Park - Odisha 
e. Answer not known 
fPo;fz;l Njrpa G+q;fhf;fspy; jtwhf nghUe;jp cs;sJ vJ? 
a. fph; Njrpa G+q;fh - F[uhj;   b. fhh;ngl; Njrpa G+q;fh - cj;jufhz;l; 
c. ue;jk;Nghh; Njrpa G+q;fh - ,uh[];jhd; d. fd;`h Njrpa G+q;fh – xb~h 
e. tpil njhpatpy;iy 
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54. Which of the following water falls forms from the river Pambar? 

a. Kumbakkarai falls  b. Hogenakal falls  c. Money falls 
d. Killiyur falls   e. Answer not known 
gpd;tUtdtw;Ws; ve;j mUtp ghk;ghh; Mw;wpypUe;J cUthfp tUfpd;wJ? 
a. Fk;gf;fiu mUtp   b. XfNdf;fy; mUtp c. Fuq;F mUtp 
d. fps;spA+h; mUtp   e. tpil njhpatpy;iy 

 
55. Which of the following statements are true about Nuclear power. 

(i) It is generated mainly from the minerals of Uranium and Thorium 
(ii) The energy released during nuclear fission/fussion 
(iii) India’s first nuclear power station was setup at Kalpakkam 
a. (i) only    b. (i) and (ii) only  c. (i) and (iii) only 
d. (ii) and (iii) only   e. Answer not known 
mZrf;jp gw;wpa rhpahd thf;fpaq;fs; vit? 
(i) ANudpak; kw;Wk; Njhhpak; jhJf;fspypUe;J mZrf;jp ngwg;gLfpwJ 
(ii) mZf;fU gpsT ,izg;gpd; NghJ Mw;wy; ntspg;gLfpwJ 
(iii) ,e;jpahtpd; Kjy; mZkpd; epiyak; fy;ghf;fj;jpy; epWtg;gl;lJ 
a. (i) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk;  c. (i) kw;Wk; (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 

 
56. Which of the following Biosphere Reserves is not located in Tamil Nadu? 

a. Nilgiri Biosphere Reserve   b. Nandadevi Biosphere Reserve 

c. Gulf of Mannar Biosphere Reserve  d. Agasthiyarmalai Biosphere Reserve 
e. Answer not known 
fPo;fz;ltw;Ws; vJ jkpo;ehl;by; ,y;yhj caph;f;Nfhsk; ngl;lfk;? 
a. ePyfphp caph;fNfhsg; ngl;lfk;    
b. ee;jh Njtp caph;f;Nfhsg; ngl;lfk; 
c. kd;dhh; tisFlh caph;f;Nfhsg; ngl;lfk;  
d. mfj;jpah; kiy caph;f;Nfhsg; ngl;lfk; 
e. tpil njhpatpy;iy 

 
57. Mazagaon Dock shipyard is located at 

a. Vishakhapatnam   b. Kolkata   c. Mumbai 
d. Kochi    e. Answer not known 
krhfhd; fg;gy; fl;Lk; jsk; mike;Js;s ,;lk; 
a. tprhfg;gl;bdk;   b. nfhy;fj;jh  c. Kk;ig 
d. nfhr;rp    e. tpil njhpatpy;iy 

 
58. Bomdila pass is located in the state of 

a. Arunachal Pradesh  b. Himachal Pradesh c. Jammu and Kashmir 
d. Sikkim    e. Answer not known 
nghkpbyh fztha; mike;Js;s khepyk; 
a. mUzhr;ry gpuNjrk;  b. ,khr;ry; gpuNjrk; c. [k;K kw;Wk; fh~;kPu; 
d. rpf;fpk;    e. tpil njhpatpy;iy 

 
59. Aatma Nirbhar Bharat is known as 

a. Universal health care     b. Universal primary education 
c. Self-reliant India      d. Inclusive growth 
e. Answer not known 
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Mj;kh eph;ghh; ghuj; vd miof;fg;gLtJ 
a. cyfshtpa Rfhjhu ghJfhg;G    b. cyfshtpa Muk;gf; fy;tp 
c. Rarhh;G ,e;jpah      d. cs;slf;fpa tsh;r;rp 
e. tpil njhpatpy;iy 

 
60. The UN climate change conference – 2021 was held in 

a. Paris   b. Moscow   c. Glasgow 

d. New York   e. Answer not known 
2021 Mk; Mz;bd; If;fpa ehLfs; elj;jpa fhyepiy khw;w khehL vq;F eilngw;wJ? 
a. ghhp];   b. kh];Nfh   c. fpsh];Nfh 
d. epA+ahh;f;   e. tpil njhpatpy;iy 

 
61. The Peacock was declared the National Bird of India in 

a. 1960 b. 1963 c. 1965  d. 1969 e. Answer not known 
kapy; ,e;jpahtpd; Njrpag; gwitahf mwptpf;fg;gl;l Mz;L 
a. 1960 b. 1963 c. 1965  d. 1969 e. tpil njhpatpy;iy 

 
62. One among the following cricketers has authored the book, “Straight from the Heart : An 

Autobiography” – Identify. 
a. Sunil Gavaskar   b. Kapil Dev   c. Saurav Ganguly 
d. Sachin Tendulkar   e. Answer not known 
“,jaj;jpypUe;J Neuhf : xU Rarhpij” vOjpa fphpf;nfl; tPuh;> fPo; fhzg;gLgth;fspy; 
ahh;? fz;Lgpb. 
a. Rdpy; fth];fh;   b. fgpy; Njt;   c. rTut; fq;Fyp 
d. rr;rpd; nlz;Ly;fh;  e. tpil njhpatpy;iy 
 

63. In the year 2022, 30th Anniversary will be celebrated by which of the following? 
(1) India - SAARC 
(2) India - ASEAN 
(3) India - WHO 
a. (1) only   b. (1) and (2) only   c. (2) only 
d. (3) only   e. Answer not known 
2022 Mk; Mz;by; gpd;tUk; ve;j ,izahy; 30tJ Mz;L tpoh nfhz;lhlg;gLfpwJ 
(1) ,e;jpah - SAARC  
(2) ,e;jpah - ASEAN 
(3) ,e;jpah - WHO 
a. (1) kl;Lk;   b. (1) kw;Wk; (2) kl;Lk;   c. (2) kl;Lk; 
d. (3) kl;Lk;   e. tpil njhpatpy;iy 

 
64. The South India People’s Association, later on came to be known as the  

a. Tamilnadu Toilers Party  b. Forward Block  c. Justice Party 
d. Communist Party of India e. Answer not known 
njd;dpe;jpa ey chpikr; rq;fk; gpw;fhyj;jpy; ____ vd mwpag;gl;lJ. 
a. jkpo;ehL ciog;ghspfs; fl;rp     b. ghh;tl; gpshf; 
c. ePjpf; fl;rp        d. ,e;jpa fk;A+dp];l; fl;rp 
e. tpil njhpatpy;iy 

 
65. The alternate name for ‘God – particle’ is 

a. Electron neutrino   b. Quark   c. Higgs boson 

d. Pi-meson    e. Answer not known 
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flTs; Jfspd; kW ngah; 
a. vyf;l;uhd; - epA+l;hpNdh  b. Fthh;f;   c. `pf;]; Nghrhd; 
d. ig-nkrhd;   e. tpil njhpatpy;iy 

 
66. Van Mahotsav involves 

a. Protecting wild life  b. Protecting trees  c. Protecting birds 
d. Act as carbon sink  e. Answer not known 
td kNfhj;rtk; vd;gJ 
a. td caphpfis ghJfhj;jy; b. kuq;fis ghJfhj;jy; c. gwitfis ghJfhj;jy; 
d. fhh;gid epiy epWj;Jjy; e. tpil njhpatpy;iy 

 
67. Metastasis is associated with 

a. Malignant tumour  b. Benign tumour  c. Both (a) and (b) 
d. Crown gall tumour  e. Answer not known 
nkl;lh];lhrp]; ,jDld; njhlh;GilaJ 
a. Nkypf;dd;l; fl;b   b. jPq;fw;w my;yJ Nkypf;idl; tif my;yhj fl;b 
c. (a) kw;Wk; (b)   d. kFlf; foiy fl;b  
e. tpil njhpatpy;iy 

 
68. “Power House of the Cell” or ATP factory of the cell is 

a. Mitochondria   b. Lysosome   c. Centriole 
d. Chloroplast   e. Answer not known 
nry;ypd; Mw;wy; ikak; my;yJ nry;ypd; ATP njhopw;rhiy vdg;gLtJ 
a. ikl;Nlh fhz;l;hpah  b. iyNrhNrhk;  c. nrd;l;hpNahy; 
d. gRq;fzpfk;   e. tpil njhpatpy;iy 

 
69. ____ show both living and non-living characteristics. 

a. Protozoa    b. Virus   c. Bacteria 
d. Fungi    e. Answer not known 
capUs;s kw;Wk; capuw;witfspd; gz;Gfisg; ngw;wit 
a. GNuhl;NlhNrhth   b. itu];   c. ghf;Bhpah 
d. G+Q;ir    e. tpil njhpatpy;iy 
 

70. There are 118 elements in modern periodic table. Among them, _____ are naturally 
occurring elements. 
a. 91  b. 92  c. 93  d. 94  e. Answer not known 
etPd jdpkthpir ml;ltizapy;> Rkhh; 118 jdpkq;fs; cs;sd. mjpy; ____ jdpkq;fs; 
,aw;ifapy; fhzg;gLfpd;wd. 
a. 91  b. 92  c. 93  d. 94  e. tpil njhpatpy;iy 

 
71. The compound used to clean iron deposits on quartz crystals is 

a. Nitric acid   b. Calcium hydroxide  c. Sodium hydroxide 
d. Oxalic acid  e. Answer not known 
Fthh;l;]; gbfj;jpd; Nky; cs;s ,Uk;G gbTfis Rj;jk; nra;a gad;gLj;jg;gLk; Nrh;kk; 
a. iel;hpf; mkpyk;  b. fhy;rpak; i`l;uhf;irL  c. Nrhbak; i`l;uhf;irL 
d. Mf;]hypf; mkpyk; e. tpil njhpatpy;iy 

 
72. The Gas used in museums to protect the monuments is 

a. Producer Gas  b. Natural Gas  c. Coal Gas 
d. Bio – Gas   e. Answer not known 
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mUq;fhl;rpafq;fspy; cs;s goq;fhy epidTr; rpd;dq;fis ghJfhf;f gad;gLk; thA 
a. cw;gj;jp thA   b. ,aw;if thA  c. epyf;fhp thA 
d. caphp – thA   e. tpil njhpatpy;iy 
 

73. _____ was the first manned mission of NASA to go to the moon. 
a. Apollo - 5    b. Apollo – 8   c. Apollo – 10 
d. Apollo – 11   e. Answer not known 
ehrhtpd; kdpjdhy; ifahsg;gl;l _____ jpl;lk; Kjd; Kjypy; kdpjh;fis epyTf;F 
mDg;gpaJ. 
a. mg;NghNyh – 5   b. mg;NghNyh – 8  c. mg;NghNyh – 10 
d. mg;NghNyh – 11   e. tpil njhpatpy;iy 
 

74. Calculate the correct reading, if the main scale reading of a Vernier Caliphers is 8 cm, 
Vernier coincidence is 4 and positive zero error is 0.05 cm. 
a. 8 cm b. 7.99 cm c. 4.22 cm d. 8.09 cm e. Answer not known 
xU nth;dpah; mstpapd; Kjd;ik msTNfhypd; msT 8 nr.kP nth;dpah; xd;wpg;G 4 
kw;Wk; Neh; Ropg;gpio 0.05 nrkP vdpy;> rhpahd msitf; fzf;fpL. 
a. 8 nrkP   b. 7.99 nrkP   c. 4.22 nrkP   
d. 8.09 nrkP   e. tpil njhpatpy;iy 
 

75. The SI unit of pressure is 
a. Joule   b. Watt   c. Newton 
d. Pascal   e. Answer not known 
mOj;jj;jpd; SI myF 
a. [_y;   b. thl;   c. epA+l;ld; 
d. gh];fy;   e. tpil njhpatpy;iy 

 
76. From a basket full of eggs, 20% of the eggs were broken and 25% of the eggs were 

reserved for the guests. The remaining 22 eggs were consumed by the family members. 
How many eggs were there in the basket? 
a. 23  b. 40  c. 55  d. 67  e. Answer not known 
Kl;ilfs; epuk;gpa xU $ilapypUe;j 20% Kl;ilfs; cile;Jtpl;lJ. 25% Kl;ilfs; 
tpUe;jpdh;fSf;fhf xJf;fp itf;fg;gl;lJ. kPjk; ,Ue;j 22 Kl;ilfs; FLk;g 
cWg;gpdh;fshy; cz;zg;gl;lJ vdpy; $ilapypUe;J nkhj;j Kl;ilfspd; vz;zpf;if 
ahJ? 
a. 23  b. 40  c. 55  d. 67  e. tpil njhpatpy;iy 
 

77. Simplify 
225 25 16

729 144 81

 
−  

 
. 

a. 
5

16
  b. 

5

8
  c. 

6

5
  d. 

16

5
  e. Answer not known 

RUf;Ff 
225 25 16

729 144 81

 
−  

 
. 

a. 
5

16
  b. 

5

8
  c. 

6

5
  d. 

16

5
  e. tpil njhpatpy;iy 

 
78. 900 boys and 600 girls appeared in an examination of which 70% of the boys and 85% of 

girls passed out in the examination. Find the total percentage of students who did not 
pass. 
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a. 30%  b. 24% c. 28%  d. 26%  e. Answer not known 
xU Njh;it 900 khzth;fSk;> 600 khztpfSk; vOjpdh;. me;jj; Njh;tpy; 70% 
khzth;fSk; 85% khztpfSk; Njh;r;rp ngw;wdh;> vdpy; Njh;r;rp ngwhj khzt 
khztpfspd; rjtPjk; fhz;f. 
a. 30%  b. 24% c. 28%  d. 26%  e. tpil njhpatpy;iy 
 

79. Find the H.C.F. of 396, 504, 636. 
a. 36  b. 72  c. 79  d. 12  e. Answer not known 
396, 504, 636 Mfpatw;wpd; kP.ngh.t fhz;f. 
a. 36  b. 72  c. 79  d. 12  e. tpil njhpatpy;iy 

 
80. Find the HCF of the polynomials x3 + x2 - x + 2 and 2x3 – 5x2 + 5x - 3  

a. x2 + x + 1   b. x2 – x – 1   c. x2 – x + 1 

d. x2 + x – 1   e. Answer not known 
x3 + x2 - x + 2 kw;Wk; 2x3 – 5x2 + 5x – 3 ,d; kPg;ngU nghJf; fhuzpiaf; fhz;f. 
a. x2 + x + 1   b. x2 – x – 1   c. x2 – x + 1 

d. x2 + x – 1   e. tpil njhpatpy;iy 
 

81. Find the least number, which when divided by 35, 56, 91 leaves in each case a remainder 
7 
a. 3640 b. 3647 c. 3633  d. 3654 e. Answer not known 
35, 56 kw;Wk; 91 My; tFf;Fk; NghJ kPjp 7 -I juf;$ba kpfr;rpwpa vz; vJ? 
a. 3640 b. 3647 c. 3633  d. 3654 e. tpil njhpatpy;iy 
 

82. Find the LCM of 21 x2y, 35xy2  
a. 105 x2y2   b. 105 xy   c. 105 x2y 
d. 105 xy2   e. Answer not known 
21 x2y, 35xy2-d; kP.ngh.k fhz;f. 
a. 105 x2y2   b. 105 xy   c. 105 x2y 
d. 105 xy2   e. tpil njhpatpy;iy 
 

83. The number of correct answers given by X and Y in a quiz competition are in the ratio 10 
: 11. If they had scored a total of 84 points, then the points obtained by Y is 
a. 40  b. 44  c. 46  d. 82  e. Answer not known 
xU tpdhb tpdh Nghl;bapy; X kw;Wk; Y toq;fpa rhpahd tpilfspd; vz;zpf;ifapd; 

tpfpjk; 10 : 11. mg;Nghl;bapy; mth;fs; nkhj;jkhf 84 Gs;spfs; ngw;wdh; vdpy;> Y ngw;w 
Gs;spfs; vj;jid? 
a. 40  b. 44  c. 46  d. 82  e. tpil njhpatpy;iy 
 

84. A heater uses 3 units of electricity in 40 minutes. Then the number of units it consumes 
in 2 hours is 
a. 6 units   b. 9 units     c. 10 units 
d. 12 units   e. Answer not known 
xU #Nlw;wp 40 epkplq;fspy; 3 myFfs; kpd;rhuj;ijg; gad;gLj;JfpwJ. ,uz;L kzp 
Neuj;jpy; mJ gad;gLj;Jk; kpd;rhu myFfspd; vz;zpf;if 
a. 6 myFfs;   b. 9 myFfs;    c. 10 myFfs; 
d. 12 myFfs;  e. tpil njhpatpy;iy 
 

85. If 81 students can do a painting on a wall of length 448 m in 56 days, then how many 
students can do the painting on a similar type of wall of length 160 m in 27 days is 
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a. 27  b. 36  c. 48  d. 60  e. Answer not known 
81 khzth;fs; 448 kP ePsKs;s Rthpy; Xh; Xtpaj;ij 56 ehs;fspy; tz;zkpLth; vdpy;> 
160 kP ePsKs;s mJNghd;w xU Rthpy; 27 ehs;fspy; me;j Xtpaj;ij tz;zkpLk; 
khzth;fspd; vz;zpf;if 
a. 27  b. 36  c. 48  d. 60  e. tpil njhpatpy;iy 
 

86. Satheesh Kumar borrowed Rs. 52,000 from a money lender at a particular rate of simple 
interest. After 4 years, he paid Rs. 79,040 to settle his debit. At what rate of interest he 
borrowed the money? 
a. 12%  b. 14%  c. 13%  d. 15%  e. Answer not known 
rjP~; Fkhh; vd;gth; xU fld; toq;F eghplkpUe;J &. 52>000 I xU Fwpg;gpl;l jdptl;b 
tPjj;jpy; fldhf ngWfpwhh;. 4 Mz;L fopj;J rjP~;Fkhh; 79>040 I nkhj;j njhifahf 
nrYj;jpdhh; vdpy; tl;b tPjk; fhz;f. 
a. 12%  b. 14%  c. 13%  d. 15%  e. tpil njhpatpy;iy 
 

87. What is the different in simple interest and compound interest on Rs. 15,000 for 2 years 
at 6% p.a. compounded annually? 
a. Rs. 60 b. Rs. 54 c. Rs. 150 d. Rs. 50 e. Answer not known 
&. 15>000 f;F 6% Mz;L tl;bapy; Mz;Lf;nfhU Kiw tl;b fzf;fplg;gl;lhy; 2 
Mz;LfSf;F fpilf;Fk; jdptl;bf;Fk; $l;L tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; vd;d? 
a. &. 60 b. &. 54 c. &. 150 d. &. 50 e. tpil njhpatpy;iy 
 

88. A principal becomes Rs. 22,050 in 2 years at 5% p.a. compound interest. Find the principal 
a. 18,500   b. 19,000   c. 19,500 
d. 20,000   e. Answer not known 
Xh; mryhdJ 2 Mz;Lfspy; Mz;Lf;F 5% $l;L tl;bapy; &. 22>050 MfpwJ vdpy; mry; 
ahJ? 
a. 18,500   b. 19,000   c. 19,500 
d. 20,000   e. tpil njhpatpy;iy 
 

89. Find the difference in C.I and S.I for P = 8000, r = 5% per annum and n = 3 years 
a. Rs. 20/-   b. Rs. 45/-   c. Rs. 61/-  
d. Rs. 50/-   e. Answer not known 
jdptl;bf;Fk; $l;L tl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f. P = &. 8000> Mz;L 
tl;b tpfpjk; r = 5%, n = 3 Mz;Lfs; 
a. &. 20/-   b. Rs. 45/-   c. Rs. 61/-  
d. &. 50/-   e. tpil njhpatpy;iy 
 

90. The surface area of the sphere is 154 cm2 then find the diameter 
a. 3/2 cm b. 7/2 cm c. 7 cm d. 14 cm e. Answer not known 
xU Nfhsj;jpd; Gwg;gug;G 154 nr.kP2 vdpy; mjd; tpl;lk; fhz;f. 
a. 3/2 nr.kP.  b. 7/2 nr.kP.  c. 7 nr.kP.  d. 14 nr.kP. e. tpil njhpatpy;iy 
 

91. The Total Surface Area of a solid right circular cylinder is 880 cm2 and its radius is 10 cm. 
Find the height of the cylinder. 
a. 12 cm b. 10 cm c. 8 cm d. 4 cm e. Answer not known 
xU cUisapd; nkhj;jg; Gwg;gug;G 880 f.nr.kP. mjd; Muk; 10 nr.kP vdpy; cUisapd; 
cauk; fhz;. 
a. 12 nr.kP b. 10 nr.kP c. 8 nr.kP  d. 4 nr.kP e. tpil njhpatpy;iy 
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92. A and B together can do a piece of work in 16 days and A alone can do it in 48 days. How 
long will B take to complete the work? 
a. 40 days   b. 18 days    c. 24 days 
d. 32 days   e. Answer not known 
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. A jdpNa me;j 
Ntiyia 48 ehl;fspy; Kbg;gh; vdpy; B jdpNa me;j Ntiyia vj;jid ehl;fspy; 
Kbg;ghh;? 
a. 40 ehl;fs;   b. 18 ehl;fs;    c. 24 ehl;fs; 
d. 32 ehl;fs;   e. tpil njhpatpy;iy 
 

93. A can do a job in 24 days B is 50% more efficient than A. Then B can finish the job in how 
many days? 
a. 12 days   b. 16 days    c. 18 days 
d. 20 days   e. Answer not known 
A Mdth; xU Ntiyia 24 ehl;fspy; Kbg;ghh;. B Mdth;> A Itpl 50% $Ljy; jpwd; 
tha;e;jth; vdpy; N Mdth; me;j Ntiyia Kbf;f MFk; fhyk; fzf;fpLf. 
a. 12 ehl;fs;   b. 16 ehl;fs;    c. 18 ehl;fs; 
d. 20 ehl;fs;   e. tpil njhpatpy;iy 
 

94. The positive integers p, q, p – q, p + q are all prime numbers. Then sum of all these 
numbers is 
a. Divisible by 3  b. Divisible by 5  c. Divisible by 7 
d. Prime number  e. Answer not known 
kpif KOf;fs; Mfpait p, q, p – q, p + q gfh vz;fs; vdpy; ,tw;wpd; $Ljy; 
a. 3 My; tFg;gLk;  b. 5 My; tFg;gLk;  c. 7 My; tFg;gLk; 
d. gfh vz;   e. tpil njhpatpy;iy 
 

95. The element along the sixth row of the Pascal’s Triangle is 
a. 1, 5, 10, 1   b. 1, 5, 5, 1   c. 1, 5, 5, 10, 5, 5, 1 
d. 1, 5, 10, 10, 5, 1  e. Answer not known 
gh];fy; Kf;Nfhzj;jpy; MwhtJ thpir ahJ? 
a. 1, 5, 10, 1   b. 1, 5, 5, 1   c. 1, 5, 5, 10, 5, 5, 1 
d. 1, 5, 10, 10, 5, 1  e. tpil njhpatpy;iy 
 

96. If the word EDUCATION is noted as FCWADQMKS. Then the word SCHOOL is note as 
a. T B J M R I  b. T W J K K M  c. T W J K R I 
d. T B J K K M  e. Answer not known 
EDUCATION vd;gij FCWADQMKS vd;w FwpaPl;lhy; Fwpf;fg;gl;lhy; SCHOOL 
vd;gij ve;j FwpaPl;lhy; Fwpf;f 
a. T B J M R I  b. T W J K K M  c. T W J K R I 
d. T B J K K M  e. tpil njhpatpy;iy 
 

97. The compound interest on Rs. 4,000 at 5% p.a for 2 years if compounded annually. 
a. Rs. 400 b. Rs. 410 c. Rs. 420 d. Rs. 430 e. Answer not known 
&. 4>000-f;F 5% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;b fzf;fplg;gLk; Kiwapy;> 2 
Mz;LfSf;F fpilf;Fk; $l;Ltl;b 
a. &. 400 b. &. 410 c. &. 420 d. &. 430 e. tpil njhpatpy;iy 
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98. A number series is given. After the series, a number is given following by (a), (b), (c), (d), 
(e). Complete the series with the number given, following the sequence of the original 
series and answer the question. 

68 60 104 188 496 1456 
42 (a) (b) (c) (d) (e) 

 What will come in the place of (d) 
 a. 301  b. 293  c. 304  d. 281  e. Answer not known 

xU vz; njhlh; nfhLf;fg;gl;Ls;sJ. njhlUf;Fg;gpwF xU vz; kw;Wk; (a), (b), (c), (d) 
kw;Wk; (e) nfhLf;fg;gl;Ls;sJ. mry; njhlhpd; thpiriag; gpd;gw;wp nfhLf;fg;gl;Ls;s 
vz;Zld; cs;s njhliu Kbj;J fPo;fhZk; Nfs;tpf;F tpil fhz;f. 
a. 301  b. 293  c. 304  d. 281  e. tpil njhpatpy;iy 
 

99. The next term of the sequence 
3 1 1 1

, , , ....
16 8 12 18

 is 

a. 
1

81
  b. 

2

3
  c. 

1

27
  d. 

1

24
  e. Answer not known 

3 1 1 1
, , , ....

16 8 12 18
 vd;w njhlh;thpirapd; mLj;j cWg;G 

a. 
1

81
  b. 

2

3
  c. 

1

27
  d. 

1

24
  e. tpil njhpatpy;iy 

 

100. The next term of the sequence is 
1 1 1 1

, , , ....
2 6 12 20

is 

a. 
1

30
  b. 

1

24
  c. 

1

22
  d. 

1

18
  e. Answer not known 

1 1 1 1
, , , ....

2 6 12 20
vd;w njhlh;thpirapy; cWg;G

1

20
 f;F mLj;j cWg;G 

a. 
1

30
  b. 

1

24
  c. 

1

22
  d. 

1

18
  e. tpil njhpatpy;iy 

 


